Simplifica todo lo que puedas

VI VB VIR, YO e Lo

Solucion:

VI VI - 2= vE, VOV

a?

VI + M3 - 2V = —6v3

Simplifica todo lo que puedas

1 7525
VI + Vi -2V, % VB + 3V78 — /3T + VIR

Solucidn:

VaT L LiE oy = _6v3, YIOVB o
2 V15

VA8 4 3VT5 — V27 4+ V108 = 22V/3

Simplifica todo lo que puedas

3B - LT+ VIB, YV VA 5T - VAT VIS

Solucion:

1 279
3v/32 — §¢73+ V128 = 18v/2, \/:\/gf =9,

VA8 4 3V75 — V27 4+ V108 = 22V/3

Simplifica todo lo que puedas

1 216+
VT4 VIR VI, YR G - ViR 4 2y

Solucion:

1 V21679
V75 + 5 V192 + V14T = 16V/3, 3/5\[ — 18V/2,





